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Introduction to Linguistics
1 Ass?gn tree structures 1o the words—incomprehensible, redisposal, and
disestablishment and justify your answer. 20%

2. The foliowing sentences involve transformation. Indicate the rules involved, and give the deep
structure, derivation and the surface structure for each of (he following sentences. 20%
a.  What might Chris bake for the party?

b.  Should Harry know whether the bottle might explode?

3. Slate each of the following rules in plain ordinary English, making reference to natural classes and
common linguistic processes. 20%

a. -syllabic
+consonantal | = }’J/ #

~-sonorant

b. ,d ¢ +syllabic
-consonantal
+sonorant
-high
-low 1# syllabic syllabic
-round +consonantal +consonantal
-back J -sonorant -sonorant
L -tense
c. +syllabic -syllabic -syllabic
-consonantal] =  [+round)/ f+consonantal +consonantal
+sonorant +anterior ___| tanterior
-round ~-coronal ~coronal J
d. }X -> [ -consonantal / -consonantal
-syllabic +syllabic
+sonorant +sonorant
a back -low

a back

4. What are the components of a speech situation? 20%

5. What is the Co-operative principle and what are the maxims which ensure that conversational
interactions actually satisfy Co-operative principle? 20%




